Name: ____________________________________________________ Class: _________________________
Homework 9: 11/13/17 to 11/17/17
Monday, November 13th, 2017
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Tuesday, November 14th, 2017
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Wednesday, November 15th, 2017
In what ways can we finish the table so it is a function? Describe the requirements for each empty spot.
	X
	Y

	6
	2

	-4
	

	17
	6

	
	7

	39
	



Thursday, November 16th, 2017
Observe the graph of the relationship between x and y. Select all statements that are true.
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A. If a point were added at = 4, the relationship would be a function.
B. If the point (2,4) were removed, then the graph would represent a function.
C. The relationship is not a function because there is more than one y-value when z = 2.

D. If the points (3,5) and (5,3) were removed, then the relationship would be a function.
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‘Which of the following functions has the greatest slope?
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‘Which set of ordered pairs is a function?

A. {(1,9), (5,0), (-1,9), (5.7}

B. {(4,7), (4,9), (4,9), (4,6)}

C. {(0,2), (9,7), (8,-5), (0,-2)}

D. {(2,3),(7,3), (3,8), (8, 8)}




